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ERRB3 | |Enrr % 110.0 ¢ 4 v °
ERRBL | Err % 00T — °
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8.3

EVTL, EVT2,EVT3, EVT44L A
EVT1, EVT2, EVT3, EVT4 — | 2D #E ™3 A0
L — | EVT1, EVT2, EVT3, EVT4 -i >k — EVT1,EVT2 EVT3, EVT4
< 0#A°
22 - A | —  # [ =201 ™0
n ESVIL / :20 % [Teod =90 ™
EVT1 A o3 A
° 4L e=0wt ™MI(aled gV |[[Vieog ™ - | [=le o2 ™q A 09)
o oo
ESVI EVT1 " fi ©
| B.B8 :00°T
nEVT1— L o3A0
n [EVT1 B m----- ( ~) EROUT (er ) FAIL (Fail )
EEUL )
n . T fio " fi © (*1)
: 0.0 100.0 C(*2)
ESV2 EVT2 " fi ©
. B.B8 :00°T
nEVT2— L o5A0
n [EVT2 B ------ ( ~) EROUT (Er ) FAIL I i(Fail )
EEUL i( )
n . T fio " fi o (*1)
: 0.0 100.0 T(-2)
ESV3 EVT3 " fi ©
| BB8 :00°TC
nEVT3— L <3n0
Nnokeo '"fi EVI353 Vv | EVT44 o= ™Mo ™ 1 — |
3%
[EVT3 B - ( ~) EROUT (Er ) FAIL (Fail )
EEUL i( )
n " fi © " fi © (*1)
: 0.0 100.0 (-2
ESV4 EVT4 o T fie
. B.B8 :00°T
N EVT4— L oqAc
nokeo "fi EVT4d o= ™n ™ | — o YF0°
[EVT4 g - ( -) EROUT (Er ) FAIL (Fail )
EEUL | ( )
n . T fio " fi o (1)
: 0.0 100.0 T(*2)
(*1): % |- | " fi or =3 A°
(*2): | - ST £A°
o pede oA =9 0y ™9 / :20 - 4340
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™

8.4  EVTL, EVT2, EVT3, EVT4 - = M=
[EVT1 (P25)¢ EC-L )y EC-H | ) TEMPL (
3 v | TEMPH( ooy e~ eqac®
EVT2, EVT3, EVT4 L £ A0
n EVT1
EVT1 P ON/OFF
EVT1 EVT1 # L =V
< - EVT1
ON -—-‘ - P “ |2 -
ON —
OFF
EVT1 OFF y
EVT1
EVT1 3 AL ey
EVT1 EVT1
N4
ON — dhig
OFF Y
EVT1
EVT1 EVT1 # 4 =V
< > EVT1
— ON O
A ON
A OFF !
EVT1 = OFE
EVT1
EVT1 3 AL =
EVT1 EVT1
N £
— j; ON
- N OFF
EVT1
( 8.4-1)
nP
# EVT1 < — - -y AL 3 A
EVT1
% (EVTL _EVT1 4L ™  Evii L ONe
A - < EVT1 £ EVT1 % ON/OFF®
EVT1 L 4= EVI1 I OFFe
%(EVT1 +EVT1 )4 L ™  Evii L one
Vs - < EVT1 # EVT1 ¥% ON/OFF?
EVT1 L  J< Evii1 4L OFF

57




n ON/OFF

EVT1
% EVT1 4 L ™ EVTl 4 ONe
% EVT1 L 4y EVT1 L OFF9
% EVT1 4 L ™ EVTl 4 ONe
% EVT1 L [y EVTl 4 OFFe
[EVT1 ON ON |OFF (P.27)] ON OFF 4 . EVT1
% ONrof V - # % ON/OFF =5 A 9
EVT1 ON OFF 4 oV — o b fi 2 B D
ON
— EVT1 — EVT1
OFF — — = =
! ! ON  —
ON OFF ON £ OFF =3 A °
AL -y =
EVT1 OFF —
“oN lorr I on Tore I on
( 8.4-2)
[ EVT (P49 -~ | — EVT % od340°
e A& - Evr 4 oq A9
) lReeY, EVT L OFF-3A°
8.5 Err - = ™M=
[EVT1 (P.25)]z EROUT (Err )& -V ( 851)—<' > % Err EVT1
L ON<-gA°
EVT2, EVT3, EVT4 L £A°
( 8.5-1)
< > <> |
« D) <«
ERRB1 | Fail ¢ fi O tfio—"2) % o=
ERRB2 | | Fail ¢ fi O tfio—"2) % o=
ERRB3 | |Err % 110.0 cd 4 v °
ERRBL  |Err % 0.0 C — 0
8.6 Fail - = ™=
[EVT1 (P.25)z FRIL  (Fail HL oV ( 851)—«'> % Fail EVT1
L ONe-gA®
EVT2, EVT3, EVT4 L £N°
8.7 - = ™M=
| - & =34
Y8 4 =L — -
Y ™ < o h' ~2dyes w340
o b wii # h' = 2(EVTL,EVT2,EVT3,EVT4 h' -y L Ji1<=# L oz
Y63 A°
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[EVT1 (P.25)]2 EEUL ™ ¢ oLy EVI1 % ON o7
A9 EVT2,EVT3,EVT4 L #A0

- | %y It
n 20 V| 220 — 9
n Lo ((xyv| & 0.00 - =V o
8.8 - = M=
| EVTO < — % EVIO - < %
- 0= - A ZA°
—oFF 4 . ONOFF— &  <3A°Vwe EVI Lo -
oV L— | %3 Yo
A
> ()
EVT
EVT
(Ctf1, Ctf2)
EVT
OFF
EVT
ON
0
EVT
P
EVT
. ]
OFF
C C C C C C
EVT
EVT P 2l
ON | | |
| |
OFF ‘
c c c on | oFf liilon orr | w2
Ctfl ! th2I
C:EVT
tf1, tf2: OFF
Ctf1, Ctf2:
( 881
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8.9

~ TM=

3V | MV— d %l ofik'fia ~sog0 - - - # =3 A°
[ (P23)z OFF | ( o)t - [ 1z 2 » (P.46)]
TEMP  ( )L =V [ - (P.49)]— - |4
1— % od34°
nNOFF 1 (( )y v |STD | )L =V [ (P.23)] AL
)L - [ =3 A9
1 < 1 L 5 - =V 1| 4mADC <047
JANE
2L #gAe
12000
4 20 mA DC( 550 Q)
oRfi —+0.3%
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9.1

FEB-102-ECH
0.00 20.00 mS/cm 0.01 mS/cm
0.0 200.0 mS/cm 0.1 mS/cm
0.0 500.0 mS/cm 0.1 mS/cm
0 500 mS/cm 1 mS/cm
0.000 2.000 S/m 0.001 S/m
gi 0.00 20.00 S/m 0.01 S/m
1.0/cm 0.00 50.00 S/m 0.01 S/m
0.0 50.0 S/m 0.1 S/m
0 2000 mS/m 1 mS/m
0.0 20.0g/L 0.1g/L
0 200 g/L 1lg/L
v iH 0 500 g/L 1g/L
0.0 200.0 mS/cm 0.1 mS/cm
0.0 500.0 mS/cm 0.1 mS/cm
0 2000 mS/cm 1 mS/cm
> 0.00 20.00 S/m 0.01 S/m
10.0/cm 0.00 50.00 S/m 0.01 S/m
0.0 200.0 S/m 0.1 S/m
0 200g/L 1g/L
0 500 g/L 1g/L
0 2000 g/L 1g/L
0.00 4.00 % 0.01 %
NacCl 0.00 20.00 % 0.01 %
Pt100 . .
e P11000 0.0 100.0 T 01T
*): ~ 24 ™M=
FEB-102-ECM
i
0.01/cm 0.00 20.00 HS/cm 0.01 HS/cm
0.1/cm 0.0 200.0 4S/cm 0.1 US/cm
1.0/cm 0 2000 HUS/cm 0.1 MS/cm
0.01/cm 0.000 2.000 mS/m 0.001 mS/m
v i H 0.1/cm 0.00 20.00 mS/m 0.01 mS/m
1.0/cm 0.0 200.0 mS/m 0.1 mS/m
0.01/cm 0.0 20.0 mg/L 0.1 mg/L
0.1/cm 0 200 mg/L 1 mg/L
1.0/cm 0 2000 mg/L 1 mg/L
Pt100 . .
e P11000 0.0 100.0 C 01T
*): o 24 M=
FEB-102-ECH
4 ¢ fi O ( Pt1005 Vv | Pt1000)
FEB-102-ECM
2 ¢ fi O ( Pt1005 v | Pt1000)

100 240V AC 50/60Hz

185 264VAC




239.5x 190x 75 mm(Wx Hx D)

1 4 1
D e w! o2 WE D oAl Pea" D
RE i ofi K" fio 2
n IP65
LCD
AL
EERA 22 ) 3V |
AL
AL
z D)3 v | z D) 3 v |
AL
AL
EVl | EVT1 ( 1)% ON —
EV2 | EVT2 ( 2)¥% ON —
EV3 | EVT3 ( 3)% ON —
(ok o "fi:EVT33 V | EVT4 )
EV4 | EVT4 ( 4)% ON —
(o ko ' fi:EVT4 )
TIR o b ™ ()
(oko "fi:C5 )
ofi K™ fie 2 «2r |
{ - FEB-102-ECH
: " fi ooRfi—*05%
7 fi ooRfi — 1%
TDS . " fi ooRfi—*15%
FEB-102-ECM
. " fi ooRfi —+05%
TDS " fi ooRfi—+t15%
FEB-102-ECH
. " fi ooRfi—1t05%
7 fi ooRfi — 1%
TDS " fi ooRfi—t15%
FEB-102-ECM
. " fi ooRfi —+05%
TDS " fi ooRfi—t15%
+1 C
ofik' fi= 250 ms(2 )
- = 1%
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2 oR fi L
Voo l . e (P49 LOCKL ( e. 1) LOCKZ ( ¢ -

2) LOCK3 ¢ e« 3L v R # Yoy ™9
2 | -4 2 ¢figd=tr o™ -
%0-offer afo
oR fi | -4 2 ¢figd v -
Lo Lownlk oo
Voo e - YaY%r |E [ "fio # °
sv™  ~¥fiod  #Fne™  ¥fio%k =V <
— % ot <%Ne| o
b=leo - L s -+ -
Tt < %z %o
Voo o - YeYagr [T —" fio # o
TDS TDS< | Total Dissolved Solids —  # L A
— | y co— - Af°
| - =— & A <04 TDS|/ —eL-—-
wtd AlLl_—zApA>
TDS| NaCl— |fe o Yalo - 4L A-- -
™|l <%ERTIASL o - L A< % % Y%
o o
TDS < | — % 19>
FEB-102-ECH
Sl (S/m)—

TDS(g/L) =L(S/m) x K x 10
TDS(g/L) = L(mS/m) x K /100
(mS/cm)—

TDS(g/L) = L(mS/cm) x K
K: TDS
L:

FEB-102-ECM
Sl (mS/m)—
TDS(mg/L) =L(mS/m) x K x 10
(MS/cm)—
TDS(mg/L) = L(#S/cm) x K
K: TDS
L:

63




EVT

< 9
P . =0 - @\/
ON/OFF Lo~ o
EVTL 0 " fi o®Rfi (1)
0.0 100.0 T(*2)
EVTL 1 300
EVTL 0 - —
20 %(*1)
0.0 10.0 T(*2)
0 100 %
¢ % | " fi or
(2): | - 3N
- Y3 2
n =
n
n
n
n
n Err
n Falil
n
') la
3A 250 V AC( )
1A 250 V AC( cos$=0.4)
10
ON o wat |0 10000
OFF o wmt |0 10000
ON ON |ON OFF L A=< EVT % ONroaf v —
/OFF z L ONIOFF: 3 {1 < %% %] °
EVTL < — % EVID I ”
- 0= - a2 — OFF 4 .
ONJOFF— & A9V« EVI] Lo Y
= | e ™9
L
s L =L
- - ¥ ™ < - h! -2
Lyey Ao
ol # h' = 2(EVTL, EVT2, EVT3,EVT4 h' =)
7 sz L #w%e
[EVT1 (P.25)]z EEULI )L o
EVI1 % ONAA°®
EVT2, EVT3, EVT4 L 9
- | Yoy ™9
n z D) 3 v | 29 ) _ 9
n Lo (x| AL
0.00 - = 9
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1,2 V| MV— d%d ofik'fia - n. -
- Ao
[ (P23)]# OFF_ 1 oML o
122 (P46)jz TEMP )AL =V
- (P.49)]— - 1— % oo
NOFF_ 1 ( ) v |STD ¢ LAY [
(P.23))2 v Al e
nPY )AL oV L Ao
1 < 1 L 9 - i
| 4mADC <o °
2 IL 9
12000
4 20 mADC ( 550 Q)
oRfi —+0.3%
1,2/ 4 - 4 9. 2% |- oR fi #
— L el <%m# %]
1,2/ 9 A - - L aq
< %# %] °
voi o) L e — A4 - Ao
voio voio # L
_ TN E
n
EVT1 e e i
EVT2 — 1
L BVT3 t 2
|_Evia ]
GND
o ok e T

500V DC 10 MR

- (GND) 1.5kVAC 1
- (GND) 1.5kVAC 1
- 1.5kV AC 1
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. P . B 1: L %o ™Mle. e
. B« 2:EVTL,EVT2, EVT3, EVT4 — L 2 %o
™Mpe. e eade
. B« 3:yfin—yi " fi ©
Q. ORfi
1. 1 ®R i
2 9. 7 2 ®R fi L o
4 - £ %] °
RN ICo-"2r % 50™/E
+ =< = - q°
¢ fi o ¢fioyk <V < — % o
4, hlJ - = A.||9
Voo ¥fio - YaY% |E T "fio # °
" fi © FEB-102-ECH
n V| TS % " fie —
—fe- aqc
1V |
TDS AL
n % " fio — — e~ A
110.0 'cd 4 v :ERRB3
0.0 C : ERRBL
FEB-102-ECM
n 3Vv| TS % " fie — — e~
Ao
3V | TDS
n % " fio — — e~ A
110.0 cd 4 v : ERRB3
0.0 T : ERRBL
ICo- ' 2% edadpe.arkAaq:®
PO P H ) P v ol 2 CPUL o | 4L s
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0Dk = bk 4 | - - 4 A
i
FEB-102-ECH
[ (P.20)]# oV
(mS/cm) PT188
(S/m, mS/m) 3V |
(%) PT 1888
NaCl (%)
TDS  (g/L)
[ (P.20)]# oV
(4S/cm) PT166
(mS/m) 3V |
TDS  (mglL) PT 1888
- ol E Al
)
n
o [ (P.23))2 OFF | ( o)L -
SRS S &
n : L Ao
n . - [ (P.23)]2 v Al e
n : - L A
* DK [Pt100 (P.23)]2 2ZMWIRE (2 HE eV ¥
fio—+*2>2Ki 3% ™g -~ |H <oV
SRETY wd oKk LT afisc 4 A
{ e
< D> 2
< D) 2y - vfiag A — — e r
-<' Dol A e
< d2y | <> <D
ERRB1 Fail ¢ fi o sfio—" 2 %
o= T'V'-” 9
ERRBZ Fail ¢ fi o sfio—" 2 %
o= TM_” 9
ERRB3 _ Err % 110.0 cd
4V °
ERRBL Err ¥% 0.0 T
— 9
/ —
10 VA
20 50 C( o < 0 50 C# 3V L 14 =2)

35 95 %RH(Y » < en ™ <)

2,000m

950 g

RoHS
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